AIR SPRINGS
\VZDUCHOVE PRUZINY
NHEBMATWUYECKWE NOABECKHU

‘R Rubena

M v ovctiovn



Tradition/ Quality / Reliabity

TRADITION / QUALITY / RELIABILITY
TRADICE / KVALITA / SPOLEHLIVOST
TPAOMUNA / KAHECTBO / HAOEXHOCTb

TRADITION / QUALITY / RELIABILITY
Leading European rubber manufacturer with 100-year tradition. Reliability and top quality of our
products conform to international standards certified by SGS Zurich.

TRADICE / KVALITA / SPOLEHLIVOST
Pfedni evropsky vyrobce gumarenské produkce se 100letou tradici. Spolehlivost a vysoka kvalita vyrabéné
produkce odpovida mezinarodnim standardim certifikovanym spole¢nosti SGS Zurich.

TPAONUUA | KAHECTBO / HAODEXHOCTb

3BeCTHbIV €BPONENCKUIA NPOM3BOAUTENb PE3NHOBBLIX U3genui co 100-neTHen Tpaguumnen. HagexHocTb
1 BbICOKOE Ka4eCTBO BblMycKkaeMon NpoayKuun COOTBETCTBYET MeXAYHapOOHbIM CTaH4apTam,
ceptudmumnpoBaHHbiM obwecteom SGS Zurich.

W CERTIE/ \\ CERTIE/ W CERTIE/ W\ CERTIE/
& R & R > R & N

Velké Pofici

@®Rubena (Cuociys vovatiov



CONTENTS / OBSAH / COOEP>XAHWE

1. AIR SP RIN G S i i ettt oot oo oo oo oo oo oo oo aeeae et et ettt et e e et e e e e ee e e e e e e e e e e b aneeeee et ee et etaaaaaaaaaaaaaas 4
BaSICS CharaCteriSHICS ... ... e e et 4
RUBENA DesSign Line Al SPIiNGS .. .coiiiiiiiiiiiii ettt a e e e e e e e e e e e eeeabb b e e e eeeas 7
DUNLOP DeSign LiNE AIr SPIINGS .ceeeiiiiiiiiiie ettt ettt e e e e e e e e e et et bbb e e e e e e e e eeeaeeas 17

1. VZDUCHOVE PRUZINY VLNOVCE ......ooiitieoteeeeee oottt ea e 4
ZAKIadni CharakteriStiKa .......... oo e e s 4
Produktova fada vInovel typu RUBENA ... ettt e e e e e e e e e e e e e e e e e e e e eeeeeees 7
Produktova fada vInoved typu DUNLOP ...t e e e 17

1. MHEBMATUNYECKUE TTPYXXUHDI (CUIBMIOHDBI) .oiiiiiiiiiiiiiiitit ittt ettt e e et e e e e e e aaeaaaeeas 5
OCHOBHAS XAPAKTEPUCTUKA ...eevtuueeeeitiieeseeatiseessstaaaeseessaaaesestaaneeeessanaaeestsanaaaeessantaeessssnnaaeressansaeeesrnnnaaares 5
MueBmaTnueckme NpyxuHbl TUNA RUBENA... ... e 7
MueBmaTnyeckme NPYXUHBE TUMA DUNLOP ... 17



AIR SPRINGS
VZDUCHOVE PRUZINY
MHEBMATUYECKUE IPY)XUHbI

BASICS CHARACTERISTICS

Air springs are generally designed for many different applications where vibrations and shocks should be
eliminated. Examples include suspensions of bus, truck, troley-bus, tractor, train and tram seats and axles. Air
springs are used for resilient mounting of machines and equipment generating shocks and vibrations transmitted
through the foundation into environment (e.g. textile looms, conveyers, power hammers, forging presses, etc.).
They are well suited to insulate laboratory instruments from vibrations. They can also be used to suspend truck
trailers and car caravans. They are in use in pneumatic jacks, e.g. in car repair services. A frequent application
is also as a single acting linear pneumatic motor. In case of any atypic application, we recommend to discuss
the manufacturer first.

The application of air springs in vehicles offers many advantages, among others protection of both a vehicle
and a load, reduction in tyre wear and a lower fuel consumption. A loading characteristic can be easily modified
by a change in air pressure inside the spring. This fact means more extensive applicability as compared to
conventional screw springs, e.g. enables to hold stable optimum vehicle height and thus the correct function of
headlamps at different vehicle loads. Suspended seats enhance driving comfort in trucks and tractors. Negligible
maintenance costs and a longer service life compared to a conventional suspension give priority to the application
of air springs.

A complete air spring is composed of a rubber-textile bellow, rings among convolutions, two clamping bead rings,
a top and a lower covers in case of a demountable set or secured covers in case of a non-demountable set.
Covers and clamping rings are designed to be fixed to suspended and non-suspended machine or vehicle parts
and one of the covers (in most cases the top one) is provided with an air inlet connection. Detailed information
available from the Sales or Engineering departments.

Air springs are mounted individually or in panels in which the needed number of air springs is joined together
— as per the suspended equipment weight. Contact of the rubber-textile wall of the bellow with sharp and hot
objects (scales, edges, exhausts, etc.) must be avoided.

Air springs can be inflated either individually or centrally. It is advisable to connect them to the compressed air
source via a control valve.

Air spring bellows are designed for the maximum operating pressure pmax, related to a static height Hstat, as
specified for individual types in the Table of basic technical data.

The rubber of which the bellow is made is not petroleum product resistant (oil, Diesel fuel, petrol, kerosene, etc.).
If contaminated by any of these substances, please wash it with warm water and wipe dry.

ZAKLADNI CHARAKTERISTIKA

Vzduchové pruziny obecné jsou uréeny pro mnoho rdznych pouziti vSude tam, kde je nutné eliminovat vznikajici
vibrace a razy. Napfiklad se maze jednat o odpruzeni sedacek a naprav autobusu, nakladnich vozidel, trolejbusu,
traktorll, vlakovych a tramvajovych vagén(. Pouzivaji se pro pruzné ulozeni strojl a zafizeni vzbuzujicich razy
a vibrace pfrenasené zakladem do okoli (napf. textilni stavy, dopravniky, buchary, kovaci lisy apod.). Jsou vhodné
pro izolace laboratornich pFistroju od vibraci. Lze je téZ pouzit pro odpruzeni nakladnich a obytnych pfivésu za
osobni automobily. PouZivaji se v pneumatickych zvedacich napf. v autoservisech. Velmi ¢asté pouZiti je také
jako jednoc€inny pfimoc&ary pneumaticky motor. Atypické pouziti doporu€ujeme nejdfive projednat s vyrobcem.
UZiti vzduchovych pruzin na vozidlech poskytuje mnoho vyhod, mezi néz pat¥i Setfeni vozidla i nakladu, snizeni
opotfebeni pneumatik a niZ8i spotfeba pohonnych hmot. Zménou tlaku vzduchu uvnitf pruZiny Ize snadno ménit
zatéZovaci charakteristiku. Tato skute€nost poskytuje SirSi pouziti oproti klasickym Sroubovym pruzinam, napf.
umoznuje zajistit stalou optimalni vySku vozidla a tim i spravnou funkci svétlometd pfi rizném zatizeni vozidla.
Odpruzené sedacky zvysuji jizdni komfort nakladnich vozidel a traktord. Nepatrné naklady na uadrzbu a delSi
Zivotnost neZz ma obvyklé pruzZeni upfednostriuji pouziti vzduchovych pruZin.

Kompletni vzduchova pruzina se sklada z pryzotextilniho vinovce, z krouzk(li mezi vinami, z dvou upinacich
patkovych krouzkl, horniho, a spodniho vika v pfipadé rozebiratelného kompletu nebo zapertlovanych vik
v pfipadé nerozebiratelného kompletu. Vika a upinaci kruhy jsou pfizplsobeny k pfipevnéni na odpruzenou
a neodpruzenou Cast stroje nebo vozidla a jedno z vik (nej¢astéji horni) je opatfeno hrdlem pro pfipojeni pfivodu

— 4 —



Vzduchové pruziny se montuji jednotlivé nebo v panelech, na kterych je spojen potfebny pocet vzduchovych pruzin
— dle hmotnosti ulozeného zafizeni. Pryzotextilni sténa vinovce nesmi pfichazet do styku s ostrymi a zhavymi
pfedméty (okuje, hrany, vyfuky apod.).

Vzduchové pruziny Ize hustit samostatné nebo centralné. Ke zdroji tlakového vzduchu je vhodné je pfipojit pfes
regulaéni ventil.

VInovce vzduchovych pruzin Ize pouzit do maximalniho provozniho tlaku pmax, pro jednotlivé typy uvedeného
v tabulce zakladnich technickych udaju, ktery se vztahuje k statické vySce Hstat.

Pryz, ze které je vinovec vyroben, nevzdoruje ropnym produktim (olej, nafta, benzin, petrolej, apod.). Pfi jeho
znecisténi nékterou z téchto latek je nutno vinovec omyt teplou vodou a offit.

OCHOBHAA XAPAKTEPUCTUKA

lMHeBMaTUYecKkne NpyxuHbl BoobLLe npefHasHaveHbl ANA MHOMMX PasnUyHbIX UCMOMb30BaHWI BCOAY TaMm, rae
NPUXOAUTCH YCTPaHUTb BO3HMUKawLme Bubpaumm n yaapbel. Hanpumep BO3MOXHO yKasaTb nogpeccopuBaHue
CngeHunin n MOCTOB aBTODOYCOB, rpy3OBblIX TPaAHCMOPTHbIX CPeAcTB, TponnenbycoB, TPakTOPOB, MOE3AHbIX
M TpamBamrHbIX BaroHoB. OHWM NPUMEHSAIOTCS A8 ynpyroW NoaBecku MalwiunH u obopygoBaHumn, BO3byxaatoLwmx
yAapbl 1 Bubpauun nepegaBaemble OT PyHAAMeEHTa B OKpyxatoLwyko cpedy (Hanpumep TeKCTUIbHble MalluHbI,
TpaHCNoOpPTEéPbl, MONOThbI, KOBOYHbIE Npeccbl U Tomy nogobHoe). OHW ABRAITCA NPUIrOAHBIMM ANS M30NAUUK
nabopatopHbiXx NpubopoB oT BuMOpauui. BO3MOXHO UX TOXe NPUMEHATb ANA NOApPeccopyBaHUSA rPy30BbiX
N XWUNbIX NPUUENOB 3a Nerkosble aBTOMOOMNN. OHM NPUMEHSAITCA B NMHEBMATUYECKNX NOAEMHUKAX Hanpumep
B aBTOPEMOHTHbIX cepBucax. O4eHb YacTbiM SABNAETCA TOXE NPUMEHEHNE Kak NPAMONIMHENHbIN NHEBMaTUYECKMI
ABuraTenb NpocToro gencteus. [pyroe (HETUNUYHOE) MPUMEHEHWE peKoMeHOyeM npeaBapuTenbHO o6CyanTb
C 3aBOJOM-U3rOTOBUTENEM.

Mcnonb3oBaHne MHEBMATUYECKMX MPYXUH AN TPaAHCMOPTHLIX CpedcTB NpenoCcTaBnseT MHOMo Bbirod, Mexay
KOTOpble BXOAMT OXpaHa TPaHCMOPTHOrO CPeAcTBa M Harpysku, CHUXKEHWEe U3HOCa MOKPLILOK U Gornee HU3KWI
pacxod MOTOPHbIX Tonnue. MyTéM M3MeHeHUs BO3OYLIHOTO AaBMeHUs BHYTPU MNPYXUHbI BO3MOXHO JErKo
N3MEHATb 3arpy304HyI0 XapaKTepUCTMKY. OTa AeNCTBUTENBHOCTL NpeaocTaBnseT 6onee WNPOKOE MUCMoNb3oBaHue
MO CPaBHEHWIO C KNAacCUYECKUMMW BUHTOBBLIMU MPYXXMHAMWU, HanpuMep no3BonseT o6ecneynTb MOCTOAHHYHO
ONTUMAaIbHY BbICOTY TPAHCTIOPTHOIO CPEACTBa U TeM ToXe 6e30LWMBOYHYI0 PYHKLMIO peddIEKTOPOB NPU pasfnyHoiA
3arpyske TpaHCMOpTHOro cpencTsa. [oapeccopeHHble CUOEHUS YBENUUYMBAOT MpoesgHoe GrnaroycTponcTBo
rPy30BbIX TPAHCMOPTHbLIX CPpedcTB U TpakTopoB. HeGonblune pacxodbl ANa yxoda U Aonblie XKU3HecnocobHOCTb
Mo cpaBHEHWIO C OObIKHOBEHHBIM MPYXXMHEHUEM BbIABUraloT MPUMEHEHME NMHEBMAaTUYECKUX NMPYXKUH.

KomnnekTHaa nHeBmaTMyeckas npyxuHa B cbope COCTOUT M3 PE3NHOTKAHEBOro CUIb@OHa, M3 Konew mexay
BOJTHAMW, U3 OBYX 3aKPENUTENbHbIX OMOPHbIX KOMeL, BEPXHEN U HXKHEN KPbILKX, B Cnyvyae pa3bopHO-NepeHOCHOro
KOMMMEKTa, WM KPbIWOK, COEAMHEHHbIX B dbanbl, B crnyyae HepasbopHoro komnnekta. Kpblwky (dpnaHubl)
N 3aKpenuTenbHble KOoMbla NPUCNOcobneHbl K yCTaHOBKE Ha MOAPECCOPEHHYK W HEeNnodpecCOPEHHYK 4acTb
MaLLVHbI UM TPAHCMOPTHOrO CpeacTBa U B OOHOW M3 KPbILWOK (Hanboree 4acTo BEpXHeWn) MMeeTCsi roprioBnHa Ans
noakrtodeHns nogaym Bosagyxa. bonee nogpobHyo MHdopmaumnto NogaéT TOProBOM UM TEXHUYECKUI OTAEnN.

lMHeBMaTU4YECKME NPYXXMHLI MOHTUPYIOTCSA MO OAHOM MK B Briokax (maHensx), B KOTOPbIX COEANHAETCA HEOBXOAMMOE
KONMM4YeCTBO NHEBMAaTMYECKUX MPYXMH — COMMacHO C BECOM onupatoLerocs obopyaosaHus. PesnHoTkaHeBas CTeHka
cvnbgoHa He AOMKHa BXOAUTb B COMPUKOCHOBEHUE C OCTPbIMU U FOpsSiYMMM NpegMeTamm (oKanuHa, ocTpble Kpas,
BbINYCKM MOTOpa 1 TOMy nogobHoe).

NHeBMaTU4eCKne MNPY>XNHbl BO3MOXXHO Haka4dnmBaTb CaMOCTOATENTbHO UM N3 LEeHTPAaribHOro nynbra. PeKOMeHﬂ,yeTCﬂ
npncoeanHATb CVIJ'Ib(*)OHbI K UCTOYHUKY CXKaToro Bo3ayxa 4epes perynmpyrou.l,w?l BEHTUIb.

CunbdoHbI MHEBMATUYECKUX MPYXUH BO3MOXHO MCMNONb30BaTb A0 MaKCcMMarbHOro paboyero gaeneHust pmax,
npeacTaBneHHOro Ans OTAEeNbHbIX TUMOB B Tabnuue OCHOBHbIX TEXHUYECKMX [OaHHbIX, KOTOPOe OTHOCUTCS
K cTatu4dyeckon BbicoTe Hstat.

Pes3nHa, n3 kotopon cunbdoH U3roTOBIEH, HE SIBMISIETCA YCTOMYMBOW K BO3AENCTBUIO HedTenpoaykToB (Macno,
HedpTb, 6eH3nH, KepocuH, 1 T.0.). [pu ero 3arps3HeHUM TakMMW BeLecTBamu CUbOH HEOBXOAMMO OMbITb
TENSION BOAOW U BbITEPETD.



THE BELLOWS SPRING TYPE IS INTENDED FOR
ELASTIC BEARING OF MACHINES AND INSTRUMENTS,
TO ELIMINATE VIBRATIONS AND IMPACTS AND, ON
THE CONTRARY, TO GENERATE VIBRATIONS AND
LIFT OBJECTS. IN GENERAL, IT IS ABLE TO CARRY
OUT WORK BY A DEFINED FORCE ALONG A DEFINED
TRAVEL - SEE BASIC TECHNICAL PARAMETERS.

VLNOVCOVY TYP PRUZINY JE URCEN PRO PRUZNA
ULOZENi STROJU A PRISTROJU, K ELIMINACI
VYBRACI A RAZU, NAOPAK PRO GENERACI VYBRACI
A K ZVEDANi PREDMETU. OBECNE JE SCHOPEN
VYKONAVAT PRACI URCITOU SILOU PO URCITE DRAZE
- VIZ. ZAKLADNIi TECHNICKE PARAMETRY.

NMHEBMATUYECKAA NMOABECKA NEPBUYHO
HA3HAYEHHASA ONSA YNIPYION OMNOPbI MALLUMH

U MHCTPYMEHTOB, ONndA YCTPAHEHNA BUEPALIUW

U YOAPOB, HAOBOPOT AJji4 rEHEPUPOBAHUA
BUBPALIMA U NOOBEMA OB BEKTOB. OHO BOOBLUE
CMOCOBHO UCMONHATbL PABOTY OMNPEQENEHHON
CWUNOW YEPE3 ONPEOENEHHYIO JOPOrY — CMOTPU
OCHOBHbIE TEXHUYECKUE NMAPAMETPbI.



AIR SPRINGS RUBENA / VZDUCHOVE PRUZINY RUBENA /
MTHEBMATUYECKWUE NPY>XWUHbl RUBENA

Type * scheme * usage / Typ ¢ schema ¢ pouziti / Tun * cxema * ucnonb3oBaHue

130 x 1

IS
IS
I}
oo}

55mm
115mm

Hstat
Hmin
Hmax

\m“
%
A 1A

77777270777777777.2227)

MAX 140 / Sbar
' 5155 — SPACE REQUIRED

usnu xe UusMeHuUmMb Mecmao pacrioslioXeHus exoda.

On request, the air inlet thread may be changed to M10x1; possibly, its placement may be changed. / Zavit na pfivodu vzduchu na
pozadani mozno zménit na M10x1, pfip. zménit jeho umisténi. / Pe3bby Ha exode 8030yxa, no mpebosaHuro, MOXHO udmeHums Ha M10x1

BOTTOM VIEW

TOP VIEW

1/8 BSP
AIR INLET

130 x 2

4x M6x1

LO

140mm
100mm
180mm

Hstat
Hmin
Hmax

MAX 8140 / Sbar
' 9155 — SPACE REQUIRED

cngeHuin B aBTobyce Karosa Renault n Karosa lIris Bus.

urnu xe U3MeHUmb Mecmo pacrosioxeHusi 8xooda.

CIEB seats in Karosa Renault and Karosa Iris buses / sedacka CIEB v autobusech Karosa Renault, resp. Karosa Iris Bus / nogpeccopvBaHue

On request, the air inlet thread may be changed to M10x1; possibly, its placement may be changed. / Zavit na pfivodu vzduchu na
pozadani mozno zménit na M10x1, pfip. zménit jeho umisténi. / Pe3bby Ha e8xode 8o3dyxa, no mpebosaHur, MOXHO udmeHums Ha M10x1

TOP VIEW BOTTOM VIEW

1/8 BSP
AIR INLET

130 x 3

4x M6x1

722770 777 |

\ Za &
o [§——&

te)
N

180mm
=240mm

HmMin=120mm, Hmax

Hstat

$MO
8130
MAX #140 / Sbar

' 5155 — SPACE REQUIRED

TOP VIEW BOTTOM VIEW

1/8 BSP
AR INLET

Rebuilding of axles in commercial motor vehicles / pfestavba naprav uzitkovych
vozidel / ANA PeKOHCTPYKLMN MOCTOB 4eNOBbIX TPAHCMOPTHbLIX CPEACTB.

On request, the air inlet thread may be changed to M10x1; possibly, its placement
may be changed. / Zavit na pfivodu vzduchu na poZzadani mozno zménit na
M10x1, pfip. zménit jeho umisténi. / Pe3bby Ha 8xode 803dyxa, no mpebosaHuro,
MOXHO U3MeHUmb Ha M10x1 unu e uamMeHUmMb Mecmo pacriofioXeHus exooa.

—7—



AIR SPRINGS RUBENA / VZDUCHOVE PRUZINY RUBENA /
MTHEBMATUYECKWUE NPY>XWUHbl RUBENA

Type * scheme * usage / Typ ¢ schema ¢ pouziti / Tun * cxema * ucnonb3oBaHue

130 Seat | 12115

AIR INLET / PIN
(5:1 DETAIL)

TOP VIEW BOTTOM VIEW

211h11
#12h11

RATSARE .

#12h11

| ]

3,579

i CIEB seats in Karosa Renault and Karosa Iris buses / sedacka CIEB v autobusech
7 * Karosa Renault, resp. Karosa Iris Bus / nogpeccopvBaHue cugeHuii B aBtobyce Karosa
i Renault n Karosa Iris Bus.

PIN N1 ] ™

(5:1 DETAIL) |_a11n11 T Assembly is set behind M16 screws in the lids. On request, a semi-assembly without
. = lids may be delivered (24 M8 x 25 screws and relevant washers enclosed). / Komplet
fixovan za cep resp. kombinovany pfivod vzduchu, zajistén pojistnymi krouzky.
/ Komnnekm kpenumcs 3a naney unu xe KOMBUHUpos8aHHbIU Mode8od e030yxa,
€mornopumcsi CmornopHbIMU KOMbYamu.

170 x 1

4x M8x1,25 TOP VIEW BOTTOM VIEW

t=90mm
60mm
120mm

Hstat
Hmin
Hmax

MAX 180 / 7bar = 1/8 BSP
#195 — SPACE REQUIRED AIR INLET

On request, the air inlet thread may be changed to M10x1; possibly, its placement may be changed. / Zavit na pfivodu vzduchu na
pozéadani mozno zménit na M10x1, pfip. zménit jeho umisténi. / Pe3bby Ha exode 8o3dyxa, no mpebosaHur, MOXHO udmeHums Ha M10x1
unu e UMeHUMb Mecmo PacrosioxeHuUs exoda.

170 x 2 4% M8x1,25

TOP VIEW BOTTOM VIEW

£
£
Yo}
o
=0
gé
St i
-
| 5l E
| 13l 5
I %
£
£ 1/8 BSP
AR INLET

MAX 8180 / 7bar
2195 — SPACE REQUIRED

Rebuilding of axles in commercial motor vehicles / pfestavba naprav uzitkovych vozidel / ans peKkoHCTpPyKUMM MOCTOB AE€MNOBbIX
TPaHCMOPTHBIX CPeACTB.

On request, the air inlet thread may be changed to M10x1; possibly, its placement may be changed. / Zavit na pfivodu vzduchu na
pozadani mozno zménit na M10x1, pfip. zménit jeho umisténi. / Pe3bby Ha exode 8030yxa, no mpebosaHuro, MOXHO udmeHums Ha M10x1
unu e UMeHUMb Mecmo PacrosioxeHuUs exoda.




AIR SPRINGS RUBENA / VZDUCHOVE PRUZINY RUBENA /
MTHEBMATUYECKWUE NPY>XWUHbl RUBENA

Type * scheme * usage / Typ ¢ schema ¢ pouziti / Tun * cxema * ucnonb3oBaHue

170 x 3 4x M8x1,25

TOP VIEW BOTTOM VIEW

Hstat=190mm
90mm, Hmax=290mm

Hmin

Rebuilding of axles in commercial motor vehicles / pfestavba naprav uzitkovych
vozidel / 4nA peKoHCTPYKLMN MOCTOB 4eMNOBbIX TPAHCMNOPTHbLIX CPEACTB.

|
|
|
On request, the air inlet thread may be changed to M10x1; possibly, its placement
‘ MAX #180 / 7bar may be changed. / Zavit na pfivodu vzduchu na poZédéni mozno zménit na
#195 — SPACE REQUIRED M10x1, pfip. zménit jeho umisténi. / Pe3bby Ha exode 8030yxa, mo mpebosaHuro,
‘ MOXHO usmeHumb Ha M10x1 unu e uaMeHUMb MECMO PacrofioXeHus 8xooa.

190 x 1

190 x 2




AIR SPRINGS RUBENA / VZDUCHOVE PRUZINY RUBENA /
MTHEBMATUYECKWUE NPY>XWUHbl RUBENA

Type * scheme * usage / Typ ¢ schema ¢ pouziti / Tun * cxema * ucnonb3oBaHue

Hstat=240mm
=140mm, Hmax=340mm

Hmin

MAX @200 / 7bar

9215 — SPACE REQUIRED

190 x 3 semi assembly

M8x1,25

TOP VIEW BOTTOM VIEW

Suspension of front axle LIAZ trucks / odpruzZeni pfedni napravy tahaci LIAZ /
nogpeccopvBaHvue nepegHero mocta rpy3osuk LIAZ.

#157

‘ .
#8910,2 T

MAX #255 / 8bar

8270 — SPACE REQUIRED

M8x1,25
220 x 2
;
[ TOP VIEW BOTTOM VIEW
= ] |
£
o
~
gl
M
gé =)
Sz
I . o5l
! I ™
[ I 2o . B
| | g
| | E
> .
i S8
‘
989+0,2 T G 3/4
2157 3/4 BSP
| MAX #250 / 8bar AR INLET ;
‘ 9265 — SPACE REQUIRED
Lifting of truck's axles. / zvedani naprav u navésu a souprav. / nogbEmM MOCTOB rpy30BUKOB.
Cross ref.: ContiTech, FD 200-19
220 x 2E
S —
|
] TOP VIEW BOTTOM VIEW
|
- £ ‘
! 5
‘ Y
| gl
i gg o
| NI ﬁ
| I~ od]
\ 15 7
[ | 2 A i
| | Il
C
| | E
| | T
|

G 3/4
3/4 BSP
; AR INLET ;

Lifting of truck's axles. / zvedani naprav u navésl a souprav. / nogb€M MOCTOB rpy30BMKOB.
Cross ref.: ContiTech, FD 200-22




AIR SPRINGS RUBENA / VZDUCHOVE PRUZINY RUBENA /
MTHEBMATUYECKWUE NPY>XWUHbl RUBENA

Type * scheme * usage / Typ ¢ schema ¢ pouziti / Tun * cxema * ucnonb3oBaHue

220

TOP VIEW

2157
M8x1,25

44,540,3

F
|

#89+0,2

G1/4
1/4 BSP
AR INLET 1

Lifting of truck's axles. / zvedani naprav u navésl a souprav. / nogbéM MOCTOB rpPy30BMKOB.
Cross ref.: ContiTech, FD 200

280 x 1

108

280 x 2

179

=

Suspension of axles SOR, Solbus, Kravtex buses / odpruzeni napravy autobusy SOR, Solbus, Kravtex. / noapeccopvBaHue mMocToB
aBTobycoB SOR, Solbus, Kravtex.




AIR SPRINGS RUBENA / VZDUCHOVE PRUZINY RUBENA /
MTHEBMATUYECKWUE NPY>XWUHbl RUBENA

Type * scheme * usage / Typ ¢ schema ¢ pouziti / Tun * cxema * ucnonb3oBaHue

280 x 3

250

290 x 1

~

Water pump for mobile toilet EkoDelta / vodni €erpadlo pro mobilni WC Eko Delta. / BogsaHon Hacoc ans mobunbHoun y6opHon Eko
Delta.

290 x 2

a

Water pump for mobile toilet EkoDelta / vodni ¢erpadlo pro mobilni WC Eko Delta. / BogsHon Hacoc ans mobunbHol y6opHoi Eko
Delta.




AIR SPRINGS RUBENA / VZDUCHOVE PRUZINY RUBENA /
MTHEBMATUYECKWUE NPY>XWUHbl RUBENA

Type * scheme * usage / Typ ¢ schema ¢ pouziti / Tun * cxema * ucnonb3oBaHue

290 x 3

340 x 2

For rebuilding front axle of Tatra / Uprava pfedni napravy Tatra / peKOHCTpyKUUs nepegHero MocTa rpysosuka Tatra.

340 x 3 Tatra 3t
|
|
I i JS‘
S
£ 1 S
M |
I i
x
(o} |
£l E
S !
| £
Q| €
1|9
*59 |
B i
|x ! |
£ i
=y |
I
N \
— |
= T
=
O |
o~ |
T M16
cca 9150

MAX 2345 / 7bar

\
N
P35
% {O\ TOP VIEW BOTTOM VIEW
| <A/\ (112)

Suspension of axles Tatra 3 t / odpruzeni napravy Tatra 3 t /
nogpeccopusaHne mocta rpysosuka Tatra 3 t.

*) Given Hmin figure is only theoretical - this height is, in lower parts
of the lift, influenced by the stop. Assembly is set behind M16 screws
in the lids. On request, a semi-assembly without lids may be delivered
(24 M8 x 25 screws and relevant washers enclosed).

8370 — SPACE REQUIRED

*) Uvedena hodnota Hmin je pouze teoreticka - ve spodnich partiich
zdvihu je tato vySka ovlivnéna dorazem. Komplet fixovan za Srouby
M16 ve vikach. Na pozadani mozno dodat jako polokomplet bez vik
(24 ks Sroubu M8 x 25 a prislusnych podlozek pribalem).

*) YkasaHHoe 3HayeHue Hmin sensgemcsi MOMbLKO MeopPemuyeckUM - 8 HUXHUX Yacmsx xo0a ama ebicoma oepaHu4usaemcs
oepaHu4yumernem. Komnnekm 3akpennsemcsi 6onmamu M16 8 kpbiwkax. [To mpebogaHuto 803MOXHa riocmaeka 6 gude nosyKomraekma
6e3 Kpbiwek (c nonykoMniaekmom nocmasnsemcsi 24 wm 6onmoe M8x25 u coomeemcmayrowux watb).




AIR SPRINGS RUBENA / VZDUCHOVE PRUZINY RUBENA /
MTHEBMATUYECKWUE NPY>XWUHbl RUBENA

Type * scheme * usage / Typ ¢ schema ¢ pouziti / Tun * cxema * ucnonb3oBaHue

340 x 3 Karosa screwing

380mm

280mm
180mm,Hmax

Hstat

APLY—Hmin*

MAX 8345 / 7bar

8370 — SPACE REQUIRED

TOP VIEW BOTTOM VIEW
(1:2) 2

Suspension of axles in Karosa Renault and Karosa Iris buses / odpruzeni napravy
Karosa Renault, Karosa Iris Bus / nogpeccopvBaHve mocTa aBToOyca Karosa
Renault, Karosa Iris Bus.

*) Given Hmin figure is only theoretical — this height is, in lower parts of the lift,
influenced by the stop. Assembly is struck onto the pins on the lids. *) Uvedena
hodnota Hmin je pouze teoreticka - ve spodnich partiich zdvihu je tato vy$ka
ovlivnéna dorazem. Komplet narazen na ¢epy na vikach. *) YkazaHHoe 3Ha4eHue
Hmin ssnsemcsa monbko meopemuyecKuM — 8 HUXHUX Yacmsx xoda sama ebicoma
oegpaHuyusaemcs oepaHuqyumesiem. Komninekm HacaXeHHbIU Ha WmbIpU KpbIWeEK.

340 x 3 Liaz

MAX 8345 / 7bar

9370 — SPACE REQUIRED

@ ccab( ;
e ; e ﬁ:[ TOP VIEW BOTTOM VIEW
= 1:2 12
3 | =|Z
Il ! N
Eé ! =<
E§ |
®| € !
i
g |
5|0
@ |
I| |
= i
%‘ : I
Ay | |
- T
o i
~ i

Suspension of LIAZ / odpruzeni podvozku LIAZ valnik / noapeccopuBaHue kapkaca
rpysosuka LIAZ.

Assembly is struck onto the pins on the lids. / Komplet naraZzen na ¢epy na vikach.
/ Komnnekm HacaXeHHbIl Ha WmbIpu KpbIWeK.

340 x 3 Liaz truck
fi= il

Mg _[]

=280mm
180mm,Hmax=380mm

Hstat

APLY=Hmin

MAX 8345 / 7bar

#370 — SPACE REQUIRED

M12x1,5

Suspension  of LIAZ  truck.
/ odpruzeni podvozku LIAZ taha¢.

- TOPW.;‘EW BOTT?MZ VIEW / nogpeccopusaHue Kapkaca
o (:2) (:2) rpysoBuka LIAZ Tdrau.

=z

o« Assembly is struck onto a pin on
<C

the bottom lid. Upper lid is delivered
separately — not mounted (6 M8 x
25 screws and relevant washers
enclosed).

On request, a semi-assembly without
the upper lid may be delivered (6 M8
x 25 screws and relevant washers
enclosed).

Komplet narazen na ¢ep na spodnim viku. Horni viko dodavano volné -
nenamontovano (6 ks Sroubli M8 x 25 a pfislusnych podlozek pribalem). Na
pozadani mozno dodat jako polokomplet bez horniho vika (6 ks Sroubt M8 x 25
a prislusnych podlozek pfibalem).

Komnnekm HacaxXeHHHbIU Ha naney HUXHeU KpblWKU. BepxHas Kpblwka
rnocmaesisiemcsi 8 HeyCmaHo8IeHHOM COCMOSIHUU (C KOMIMIIeKMOM 1ocmaernsiemcsi
6 wm 6onmoes M8x25 u coomeemcemeyrowux wautb).

— 14 —




AIR SPRINGS RUBENA / VZDUCHOVE PRUZINY RUBENA /
IMTHEBMATUYECKUE TIPY>KUHblI RUBENA

Type * scheme * usage / Typ ¢ schema ¢ pouziti / Tun * cxema * ucnonb3oBaHue

340 x 3 Karosa Recreo crimp

QF
a
=

T3

S )

300mm
200mm,Hmax

Hstat

63

Hmin*

‘ TR I
c C
- 5 e
o
(@) |
~ i
I o i
é ( 2 !

g€ [

gr 9 |

o |

&

215 " ‘

7 o] © : |
£l | |
el A i
I i i
S [

— |
o
|
P’)t ‘ [ce]
M, i
i@ 923 ¥
Il
| e22H11
cca 8150
MAX 9345 / 7bar
$370 — SPACE REQUIRED
: @y
<
o
o
<

E
=

C “8 kpyxouke” - ebicoma mpybku nod ogpaHudyumernem 152 mm, yodnuHeHHbIl 8x00 8030yxa ¢ sHewHel pe3bbol M12x1,5. D “8 kpyxouke”
- 8bicoma mpybku nod ozpaHuydumenem 163 mm, 8xod 8030yxa rnod yanom 45° ¢ eHympeHHel pe3abbol M16x1,5. E “8 kpyxo4ke “ - ebicoma
mpy6ku nod oepaHuyumersnem 163mm, yOnuHeHHbIU 8x00 803dyxa ¢ eHewHel pe3bbol M12x1,5.

<46

38

M10x1
AIR INLET

AIR INLET

0
x
«
=

TOP VIEW

46

||

M12x1,5
AIR INLET

@

©

@)

Suspension of axles in Karosa Renault and Karosa Iris
buses / odpruzeni napravy Karosa Renault, Karosa
Iris Bus / nogpeccopvBaHue mocta aBToOyca Karosa
Renault, Karosa Iris Bus.

*) Given Hmin figure is only theoretical - this height is, in
lower parts of the lift, influenced by the stop. Assembly
is struck onto the pins on the lids. A ,in a circle”
— pipe height under the stop 152 mm, air inlet with an
M10x1inner thread. B , in a circle , - pipe height under
the stop 152 mm, extended air inlet with an M10x1inner
thread. C , in a circle , - pipe height under the stop
152 mm, extended air inlet with an M12x1.5 outer thread.
D, in a circle ,, - pipe height under the stop 163mm, 45°
angle air inlet, with an M16x1.5 inner thread. E , in a
circle , - pipe height under the stop 163 mm, extended
air inlet with an M12x1.5 outer thread.

BOTTOM VIEW
(1:2)

*) Uvedena hodnota Hmin je pouze teoreticka - ve
spodnich partiich zdvihu je tato vySka ovlivnéna
dorazem. Komplet narazen na Cepy na vikach. A v
krouzku”“ - vy$ka trubky pod dorazem 152mm, pfivod
vzduchu s vnitfnim zavitem M10x1. B ,v krouZku*
- vySka trubky pod dorazem 152 mm, prodlouzeny
pfivod vzduchu s vnitfnim zavitem M10x1. C v krouzku“
- vy$ka trubky pod dorazem 152 mm, prodlouZeny privod
vzduchu s vnéjsim zavitem M12x1,5. D ,v krouzku® -
vyska trubky pod dorazem 163 mm, privod vzduchu pod
Uhlem 45° s vnitinim zavitem M16x1,5. E “v krouzku”
- vy$ka trubky pod dorazem 163 mm, prodlouzeny privod
vzduchu s vnéjsim zavitem M12x1,5.

*) YkazaHHoe 3HayeHue Hmin sensemcs mosbKo
meopemu4yeckuM - 8 HWKHUX 4Yacmsx xo0a ama
8bicoma ogpaHuyusaemcs ozpaHudumernem. Komnnekm
HacaXeHHbIl Ha WmbIpU KpbiweK. A “8 Kpyxouke”
— 8blcoma mpybku nod oepaHuyumesnem 152 mm,
8x00 803dyxa ¢ sHympeHHel pe3bbol M10x1. B “s
Kpyxxouke” - ebicoma mpybku nod ozpaHu4dumesnem
152 MM, yOnuHeHHbIU 8x00 8030yxa C 8HympeHHel
pe3bbol M10x1.

380 x 1

#3580

9272
8226

106




AIR SPRINGS RUBENA / VZDUCHOVE PRUZINY RUBENA /
MTHEBMATUYECKWUE NPY>XWUHbl RUBENA

Type * scheme * usage / Typ ¢ schema ¢ pouziti / Tun * cxema * ucnonb3oBaHue

380 x 2

#3580
$272
$226

Suspensions of Tatra chassis / odpruzeni Sasi Tatra / nogpeccopvBaHune kapkaca rpy3oBuka Tatra.

380 x 3 Tatra 4t

- D,
IS i %A\ /¢(<<\+‘/o“
5 ; S -
D
5o} |~ |
I Holo i
> — OO0
o NN |
€| E
ISES i
Ol e
S
L1 R
Bl= |
=1 i
2z R ‘ ‘
L | |
€1 | |
T - i
N \
— |
o i
]
X i
N
' M16
cca 2160
MAX 395 / 7bar
$420 — SPACE REQUIRED

a pfislusnych podlozek pfibalem).
oepaHu4yumernemMm. KpoHwmelHbl 1o ospaHu4yumesemM 8 mpex

u coomeemcmeyroujux waub).

TOP VIEW BOTTOM VIEW

(1:2)

(1:2)

Suspensions of Tatra axles / odpruzeni Sasi Tatra / nogpeccopuBaHne
Kapkaca rpysosuka Tatra.

*) Given Hmin figure is only theoretical — this height is, in lower parts of
the lift, influenced by the stop. Console under the stop in three heights.
The assembly is set behind M16 screws in the lids. On request, a
semi-assembly without lids may be delivered (30 M8 x 25 screws and
relevant washers enclosed).

*) Uvedena hodnota Hmin je pouze teoreticka - ve spodnich partiich zdvihu je tato vySka ovlivnéna dorazem. Konzole pod dorazem ve
trech vyskach. Komplet fixovan za Srouby M16 ve vikach. Na pozadani mozno dodat jako polokomplet bez vik (30 ks Sroubl M8 x 25

*) YkaszaHHoe 3HayeHue Hmin siensiemcsi mosibKO mMeopemuyecKuM — 8 HUXHUX Yacmsx xoda ama ebicoma ocpaHu4usaemcs

yposHsix. Komnnekm 3agpukcuposaH 6onmamu M16 e kpbiwkax. 1o

mpebosaHu 803MOXHa rnocmaska e gude rosykomnnekma 6e3 Kpbiwek (¢ nonykomniaekmom nocmasnsemcs 30 wm 6onmoe M7 x 25

410 x 1

132




AIR SPRINGS DUNLOP / VZDUCHOVE PRUZINY DUNLOP /
NMHEBMATUYECKWUE NPY>XUHbI DUNLOP

MAX @80 / 8bar

95 — SPACE REQUIRED

Type * scheme * usage / Typ * schema ¢ pouziti /| Tun * cxema * ucnonb3oBaHue g:f):l?ence
23/," x 1
s ue ContiTech
~ TOP VIEW BOTTOM VIEW FS 22_3
€
5
‘ ‘ g‘;‘ Firestone
| | %é W01R584079
Ze
IL‘:‘
| £
$36+0,1 ‘
78
MAX 880 / 8bar AR INLET
‘ $95 — SPACE REQUIRED ‘ |
M6
23/," x 2 ;
~ TOP VIEW BOTTOM VIEW ContiTeCh
i -
5
gL Firestone
E o
%% WO01R584080
; 3
| | ©
g
€
- 1/4 BSP
| AIR INLET
$36+0,1 ‘
¢78
MAX @80 / 8bar
| ¢95 — SPACE REQUIRED |
23/," x 3 1
& TOP VIEW BOTTOM VIEW ContiTech
. Firestone
5 WO01R584081
g3
£L
€
I Ié
: : E AR INLET
£
|
$36+0,1
@78




AIR SPRINGS DUNLOP / VZDUCHOVE PRUZINY DUNLOP /
NMHEBMATUYECKWUE NPY>XWUHbI DUNLOP

MAX 8125 / 8bar

140 — SPACE REQUIRED

vegr Cross
Type * scheme * usage / Typ * schema * pouziti /| Tun * cxema * ucnonb3oBaHue S
415" x 1
ContiTech
” TOP VIEW BOTTOM VIEW Fs 44-5
—
‘ §§§ Firestone
‘ i % i} WO01R584050
‘ JIEE
S
$9310,1
#110
MAX @125 / 8bar
140 — SPACE REQUIRED
AIR INLET
41/," x 2
ContiTech
&’ﬁ TOP VIEW BOTTOM VIEW FD 44-10
: Eﬁ Firestone
Elo
| ‘ %§ WO01R584051
\ \ %E
\ \ Bl
‘ £
N}
$931+0,1
#4110
MAX @125 / 8bar AIR INLET
‘ ‘ #140 — SPACE REQUIRED
415" x 3
| ME = - TOP VIEW BOTTOM VIEW ContiTech
| 2 FT 44-15
E‘f‘ Firestone
e
%l E
[ | =8
Il
! \ -
\ [ -
‘\ AR INLET
893401
110




AIR SPRINGS DUNLOP / VZDUCHOVE PRUZINY DUNLOP /
NMHEBMATUYECKWUE NPY>XWUHbI DUNLOP

$127+0,1
?152,4
MAX 8168 / 8bar
9180 — SPACE REQUIRED

|
|
|
|

=7 \ Ve 1 '
i W\ ~7iz
I

/2 BSP
AR INLET

Type * scheme ¢ usage / Typ * schema * pouziti / Tun * cxema * Ucnonb30BaHne Cross
Reference
6" x 1 (Al
ContiTech
TOP VIEW BOTTOM VIEW FS 76_7
M8 H—
==Y | /HZECIR
"‘"{‘05/ Il/ T geE Firestone
| | EES
: :§ Bl WO01R584078
oy \ f ' | Tt
gl (e
$127£0,1
$152,4
MAX 8168 / 8bar
‘ ‘ 8180 — SPACE REQUIRED
AIR INLET
More using: Power Plate Gym
6" x 2 (Al)
ContiTech
FD 76-14
"W\"””f/.f“’ 2 \” "’ © : TOP VIEW BOTTOM VIEW '
b Firestone
g8 W01R584070
| W
| 2IE
I |8
| £
r' ' r £
912701
8152,4
MAX 8168 / 8bar 1/2 BSP
| 8180 — SPACE REQUIRED AR INLET
6Il
e _ ContiTech
"i{z//{/-”""/ /// J‘Eﬂ Dl TOP VIEW BOTTOM VIEW FT 76_20
IS
£ a
g Firestone
55
T
£




AIR SPRINGS DUNLOP / VZDUCHOVE PRUZINY DUNLOP /

NMHEBMATUYECKWUE NPY>XWUHbI DUNLOP

Hstat
95mm, Hmax

Hmin

AIR INLET

max.15

#154
MAX 9168 / 8bar

#180 — SPACE REQUIRED

I
|
|
|
}
$127+0,2

Type * scheme ¢ usage / Typ * schema * pouziti / Tun * cxema * Ucnonb30BaHne Cross
Reference
6" x 1 (Steel)
ContiTech
M10x1,5 -
- TOP VIEW BOTTOM VIEW
= Firestone
[ gleE
| EES WO01R584052
| AT
6127+0,2 %
8154 E
MAX @168 / 8bar AR INLET
%180 — SPACE REQUIRED
6" x 2 (Steel)
. M10x1,5 ContiTech
fhofn o o -
Lo ‘ L . TOP VIEW BOTTOM VIEW
£
| {5 Firestone
} 5 WO01R584053
1 : - 3
| | D
| £
/ry ﬂ\ﬂ i
@D Ly s .
9127£0.2 % AR INLET
$154 S
MAX 2168 / 8bar
#180 — SPACE REQUIRED
6" x 3 (Steel)
M10x1,5 ContiTech
= TOP VIEW BOTTOM VIEW
Firestone
Eﬁ




AIR SPRINGS DUNLOP / VZDUCHOVE PRUZINY DUNLOP /

NMHEBMATUYECKWUE NPY>XWUHbI DUNLOP

More using: Linting of axles SAE, Lohr

wier Cross
Type * scheme * usage / Typ ¢ schema ¢ pouziti / Tun * cxema * ucnonb3oBaHue Reference
6" eccentric (M12x1,5; R25; 25°)
ContiTech
947 | - MI0K1.5 TOP VIEW Firestone
e\ -
| )
| ?"
250
M12x1,5
12mm deep
AR INLET
More using: Linting of axles SAE
8" x 1
ContiTech
— 1015 TOP VIEW BOTTOM VIEW FS 138-8
g ‘ o gEE Firestone
| | 32T W01R584054
| | *2 E é
| oyt T
i [T |
Ly
$155,6+0,2 0
184 %
MAX 8230 / 8bar €
¢$240 — SPACE REQUIRED
AR INLET
8" x 2
10x1 5 ContiTech
,,,,,,,,,,,,,,,,,,,,,, H B TOP VIEW BOTTOM VIEW FD 138-18
| T
& .
| S Firestone
‘ CE WO01R584055
| ‘ LoIfE
! | L35
: ‘ i
w £
i 11 |
Ly
$155,6+0,2 o)
0184 %
MAX 8230 / 8bar g AR INLET
$240 — SPACE REQUIRED




AIR SPRINGS DUNLOP / VZDUCHOVE PRUZINY DUNLOP /

NMHEBMATUYECKWUE NPY>XWUHbI DUNLOP

More using: MAN F 90

Type * scheme ¢ usage / Typ * schema * pouziti / Tun * cxema * Ucnonb30BaHne Cross
Reference
8" x 3
M10x1.5 ContiTech
ﬁ ﬁ ] : TOP VIEW BOTTOM VIEW FT 138-26
i ‘
[ £ .
i s Firestone
‘ gl W01R584056
g g
| e
&
| | | I%
| I <
| | L
! AIR INLET
[T
L
$155,6+0,2 e}
9184 %
MAX @230 / 8bar E
$240 — SPACE REQUIRED
8" eccentric (M12x1,5; R35; 10°)
ContiTech
TOP VIEW o
M10x1,5
e tﬁj oo Firestone
i T o~
‘ -
2 i
E %70
M12x1,5
15mm deep
AIR INLET
More using: Linting of axles SAE, Gigant Group, Lohr
91/," x 2
ContiTech
M10x1,5 TOP VIEW BOTTOM VIEW
h i o i FD 209-21
L i ; ) o~
| Firestone
gl E
‘ gEE -
| | o
I I 5l %
I I ' oEE
I I I =
|
{ TT
s [sumi)
©168,3+0,2 0
9197 % 1/2 BSP
MAX ¢260 / 8bar € AIR INLET
‘ ! ©$275 — SPACE REQUIRED




AIR SPRINGS DUNLOP / VZDUCHOVE PRUZINY DUNLOP /

NMHEBMATUYECKWUE NPY>XWUHbI DUNLOP

More using: Flexolink, York - Tecair, Seddon Atkinson, Lohr, lifting jacks Zendex and Cattini, lifting of pantograph

Sigr Cross
Type * scheme * usage / Typ * schema ¢ pouziti /| Tun * cxema * ucnonb3oBaHue Reference
91/4" eccentric (G1/4"; R22; 0°)
ContiTech
TOP VIEW -
o | M10x1,5 Firestone
.| W T o
M o =
i |
2 |
g pas
G 1/4
1/4 BSP
AIR INLET
10" x 1
ContiTech
M10x1,5 )
. [ﬁ fﬁ I ':- TOP VIEW BOTTOM VIEW
- RN = (1:2) (:2) Firestone
| ‘ EEE WO01R584057
i ! i j‘ffﬁ?
I 2 [Iy= E=-
PEE
- i m 1
oy ey T
¢181£0,2 )
9210 % 1/2 BSP
MAX 8280 / 8bar g AR INLET
‘ ‘ 295 — SPACE REQUIRED
10" x 2
M10x1,5 ContiTech
3 o o FD 210-22
- @% o g TOP VIEW BOTTOM VIEW
- S (1:2) (1:2) Firestone
2 £ : WO1R584058
| : | T;‘,E
I [ 55
[ [ iy
| | | £
IS
N Lo ! -
L >y [1 T 1/2 BSP
#18140.2 - AR INLET
9210 %
MAX @280 / 8bar €
| ‘ 9295 — SPACE REQUIRED




AIR SPRINGS DUNLOP / VZDUCHOVE PRUZINY DUNLOP /

NMHEBMATUYECKWUE NPY>XWUHbI DUNLOP

| 9210 ‘
#18140,2

More using: lifting of pantograph

Sigr Cross
Type * scheme * usage / Typ ¢ schema ¢ pouziti / Tun * cxema * ucnonb3oBaHue R
10" x 3 M10x1,5
o ims o g ContiTech
- i FT 210-32
TOP VIEW BOTTOM VIEW
I €€ (1:2) (1:2)
g £f :
[ RN Firestone
1)
‘ £ 8¢ WO01R584059
‘ See
| EE
| Slo
a1
! ‘ | |EE
i | [ NANE 1/2 BSP
: : : gg AR INLET
N Pl
¢ [1
= E% < - More using: Seddon Atkinson, lifting jacks Zendex a Cattini,
mi;g,z = Castera, Frejat, Titan, Trouillet, Somerel Leveques, Samro,
WAX 9280 / Bbar g Denis Bus, lifting of pantograph, suspension of axles SOR,
\ Solbus, Kravtex buses
‘ 9295 — SPACE REQUIRED
10" eccentric (M16x1,5; R40; 45°)
ContiTech
TOP VIEW :
(1:2)
o M10x1,5
5 AN i mt Firestone
1 e N WO1R584086
2 1
£ M16x1,5
280 AR INLET
10" clamping ring with nuts (4x M10)
ContiTech
TOP VIEW .
(1:2) Firestone

— 24 —




AIR SPRINGS DUNLOP / VZDUCHOVE PRUZINY DUNLOP /

NMHEBMATUYECKWUE NPY>XWUHbI DUNLOP

$231,840,2

9260

MAX 8345 / 8bar

max.15

370 — SPACE REQUIRED

2PLY—Hmin

Type * scheme * usage / Typ * schema ¢ pouziti / Tun * cxema * ucnonb3oBaHue Cross
Reference
12" x 1
ContiTech
M10x1,5 -
s = TOP VIEW BOTTOM VIEW
7 T Nt (1:2) (1:2)
i \ Firestone
| | % € %
i 1 EES WO01R584060
| | T
©231,840,2 I )
9260 %
MAX 8330 / 8bar IS
‘ ! 8345 — SPACE REQUIRED
12" x 2 M10x1,5
B ContiTech
=~ FD 412-22
£ TOP VIEW BOTTOM VIEW
£ (1:2) (1:2)
g?j Firestone
S W01R584061
—| £
1 B
i ain
| | £
£
9231,8+0,2 )
9260 %
MAX 8330 / 8bar €
| ! $345 — SPACE REQUIRED
More using: Gigant Lift, Lohr, Setra SG 175, MAN F 90, SAF axles
12" x 2E 1
. ContiTech
TOP VIEW BOTTOM VIEW )
(1:2) (1:2)
§ Firestone
U WO01R584039
Sle
Us
g




AIR SPRINGS DUNLOP / VZDUCHOVE PRUZINY DUNLOP /
NMHEBMATUYECKWUE NPY>XUHbI DUNLOP

MAX 8395 / 8bar

AIR INLET

v Cross
Type * scheme * usage / Typ ¢ schema ¢ pouziti / Tun * cxema * ucnonb3oBaHue Reference
12" x 3
= = ContiTech
|| — @E FT 412-32
TOP VIEW BOTTOM VIEW
(1:2) (1:2)
| € €
'3 P Firestone
} Ll WO01R584062
‘ flEE
! REE
! NEE
| Tlow
|
! 1 EE
: : Z‘i‘ 1/2 BSP
| i &% AR INLET
l
[
More using: Weweler / Phoenix
©$231,8+0,2 O
9260 S
MAX @330 / 8bar €
‘ ‘ $345 — SPACE REQUIRED
12" eccentric (M16x1,5; R60; 45°)
ContiTech
TOP VIEW
(:2) Firestone
o R~ W01R584037
[l
Vol
% l
g
$120
141/5," x 1
ContiTech
0 R TO(P V\)EW BOTTOM VIEW
e 1.2 1:2
ﬁj Firestone
N' R dee WO01R584063
| | Bl Es
| | i
1 ZlEE
TT
&
$282,6+£0,2 0
9311 % 1/2 BSP
IS
| ! #410 — SPACE REQUIRED




AIR SPRINGS DUNLOP / VZDUCHOVE PRUZINY DUNLOP /
NMHEBMATUYECKWUE NPY>XUHbI DUNLOP

3AMETKA:

pasmepom 16".

atypicka provedeni jsou spoleé¢na pro 141/," a 16" a jsou zobrazena za dimenzi 16".

HeTUMNoBLIe NpoBeAeHUsA ABNAKTCA COBeCTHbIMU aAna 141/," a 16" U oHM M3ob6paxeHbI 3a

v Cross
Type * scheme * usage / Typ ¢ schema ¢ pouziti / Tun * cxema * ucnonb3oBaHue Reference
141/," x 2 o
M10x1,5 N ContiTech
o) 51 FD 614-26
[ HI TOP VIEW BOTTOM VIEW
N R (1:2) 1:2
v Firestone
i 0 ElgE
| 555 WO01R584064
‘ : ALY
| : ‘% gg
| i :I T
e TT
1/2 BSP
¢28£,g(§i0,2 0 A\/R INLET
9311 .
MAX 2395 / 8bar g
| 410 — SPACE REQUIRED
More using: Fruehauf
141/," x 3 "
M10x1,5 o~ i
N " X"F ContiTech
T l FD 614-36
s | : TOP VIEW BOTTOM VIEW
; EE (1:2) (1:2)
- s& Firestone
1 Ly WO01R584065
: EEE
| W€ E
! W55
: iy
‘ : CEE
: | T 1/2 BSP
! | I Fete AIR INLET
. N
£ TT
$282,6+0,2 ©
8311 .
MAX 395 / 8bar 2
| 410 — SPACE REQUIRED
NOTE:
atypical versions are common for 14 1“ and 16“ and are illustrated behind 16“
dimension.
POZNAMKA:




AIR SPRINGS DUNLOP / VZDUCHOVE PRUZINY DUNLOP /
NMHEBMATUYECKWUE NPY>XUHbI DUNLOP

MAX 9430 / 8bar

»445 — SPACE REQUIRED

Type * scheme ¢ usage / Typ * schema * pouziti / Tun * cxema * Ucnonb30BaHue g:e?:rsence
16" x 1
ContiTech
m» -
M10x1,5 N TOP VIEW BOTTOM VIEW
-~ - (1:2) (1:2)
L — Firestone
1 EIEE
1 ‘ 5| &5 WO01R584066
| | 1Y
. 2|gg
T T I%
I
$282,640,2 o
9311 .
MAX @430 / 8bar g 1/2 BSP
| : 9445 — SPACE REQUIRED AIRINLET
16" x 2 "
M10x1,5 o ContiTech
; ﬁ i TOP VIEW BOTTOM VIEW FD 816-30
TR I i (1:2) (1:2)
|
i c £E c Firestone
| EIS €
1 = WO01R584067
! TEET
| | ki
| ! Kdiefat=
i ! Tz a
| S
P !
I
1/2 BSP
$282,640,2 © AIR INLET
9311 e
MAX 8430 / 8bar g
- 9445 — SPACE _REQUIRED
~
M10x1,5 ° ContiTech
ﬁj TOP VIEW BOTTOM VIEW FT 816-40
m (1:2) 1:2
EE
} © EE )
! b SS Firestone
- [Tolty)
1 [ WO01R584068
! EEE
! VI EE
! i
} I |EE
| T
1 | j‘j‘ 1/2 BSP
! ao AR INLET
|
Hi
e
$282,6+0,2 o
p311 %
£

— 28 —




AIR SPRINGS DUNLOP / VZDUCHOVE PRUZINY DUNLOP /

NMHEBMATUYECKWUE NPY>XUHbI DUNLOP

Type * scheme ¢ usage / Typ * schema * pouziti / Tun * cxema * Ucnonb30BaHue g:e?:rsence
141/," & 16" - 8 holes and screws
ContiTech
0| M10x1,5 Rﬁ )
[ﬁj 9 TOP VIEW
; ol " oo Mo : (1:2) Firestone
1 I I I
wzsz%jio,z o AIR INLET
9311 %
£
141/," & 16" eccentric (M22x1,5; R85; 45°)
ContiTech
TOP VIEW -
- (1:2)
0| M10x1,5 & Firestone
™ @ 2 WO01R584074
g |
141/," & 16" clamping ring with nuts (6xM8)
ContiTech
TOP VIEW
(1:2) .
| 311 . 6x M8x1,25 Firestone
$282,640,2




AIR SPRINGS DUNLOP / VZDUCHOVE PRUZINY DUNLOP /
NMHEBMATUYECKWUE NPY>XUHbI DUNLOP

. . . . _ . . Cross
Type * scheme * usage / Typ * schema * pouziti /| Tun * cxema * ucnonb3oBaHue BEr e
211/," x 2
ContiTech
8546,1 |
8442,5 |
¢40}8,5 | Firestone
‘ é -
|
|
|
|
) | ¢ 2

G D




Notes/Poznamky/3ameTtku



CGSO

CGS manufactures and globally
distributes producst for the automotive
industry and other industries,

CGSOTYRES

« Agricultural tyres

» Multipurpose, Earthmoving and Fork Lift tyres
» Motorcycle tyres

* Truck tyres

* Aircraft tyres

Milas CultorC

Tradomork onsed by Contaanial AG

‘R Rubena“

* Rubber compounds

* Rubber moulded parts

* Antivibrating systems

* Sealing elements

* Rubber roller coatings

» Silicon rubber products

* Rubber-textile fabric products
 V-belts

* Bicycle tyres and tubes

R Rubena C)SicoRubena
. ‘R Rubena“
a’ Antikor RUBENA a.s.

+ Chemical vessel rubber coating Ceskych bratfi 338
547 36 Nachod, Czech Republic
tel.: +420 491 447 410
tel.: +420 491 447 100
tel.: +420 491 447 521
fax: +420 491 447 411
» Curing moulds and testing fax: +420 491 447 109

e-mail: avs@rubena.cgs.cz
E-shop: www.rubena.cz

For more information about
the RUBENA product range
please visit:
www.rubena.eu

Distributor / Customer service:

CGS as. @ Rubena

Svehlova 1900, 106 25 Prague 10, Czech republic

EN ISO 9001:2000 ISO/TS 16949:2005 ISO 14001 P(Qu-c,,\zs \~wovciovn.
www.CGS.eu

© CGS/R: 08/2009/022

Photos: Horst Bauer, Matous Duchek, DiDi & Rubena archive



